==
N = 0 &8 AF S 9 Al A
SN DEAFY
M DEHIHAMHA A
Col: DEAMES FU(ZXE =23H) EERED
- - _ L=
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
nEHH W 18,620,344 15,403,524 3,216,820
Al 2,958,000
- 15,662,344
nNEHHAHA 2 40,215 40,215 0
NEANEE FHI(FXE SE3H) 40,215 40,215 0
FEHUSANAE L AHANEXE X 40,215 40,215 0
401 Al HI L £ 0HHI 40,215 40,215 0
01 A& HI 40,000 40,000 0
OFHXZNM L AQTNT &X
40,000, 000& 40,000
03 A& £ 0HH| 215 215 0
OZFUS2XME L HATX T & 215,0008 215
FIEAN =2 985,067 899,775 85,292
EYUFEXN HEH(FNE SEIA) 985,067 899,775 85,292
SYHFEXSS & 516,938 529, 365 N12,427
201 Bt A H| 373,615 308,730 64,885
01 AR 22l ] 72,695 60,830 11,865
OMEE2 W X AEIH 150 *2,0000Hx12& 3,600
OZ=F 98t BHE HI2 L S=F DA
=4 H2 33& *8,30024 128 3,287
OFXZ 9ot SUC MLDNA S22 Y8
33& *20,0001 x43| 2,640
OFXZ 98 BEE MLDAA S22y
33& x79,00021 x43| 10,428
OZFHZ <8t BEHE DANM 20
70,0003 262 A x12& 21,840
OSYZHI Qb AMEXNA K9
80,000& 10 A x12& 9,600
OFEXNENMHAHET L HUHE 150 «20, 0000H 3,000
OZHISE ARS MAZY SEA
80,000 »108r A 800
OSYTHI =08Y 820 &
70,000& *1000H 7,000
OnstxaEA 29| 200,000& ~12& 2,400
OPDATHE Al AE S TRIE HRAEHN 2
Xl 50,0003 * 12k Ax12& 600
OREES) ARE(EY) 250,000 304 7,500
02 352 H| 300,920 247,900 53,020
ORolc=3ine M348 ARE
150,000& «12CH = 12& 21,600
o203t ®IAER
15,000& *76 1 A~ x 12 13,680
OLEHE DXA 2B L3z (Q8t
2702 %12, 14024 128 39,334




SN DEHEDY
=L EES EE
Sel: EYFIA HA(FNT SLHIAH) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFFXLY BEE MEDXAM 2 g855(
o) 2703 *79,00021 x43] 85,320
OHhS ALY MEEXRAM L= (L8
2703 15,0004 123 48,600
OFFX =X XSIHA
500,000& +6CH*13] 3,000
OFEX &4=sXe B8E 700,000 «6CH*13] 4,200
OFFX SEXY BANLLLD
50,000& +5CH »23 500
OFEX &£8 RHI AE=
45,000 «x7CH 128 3,780
OPDA E4 AME 23 70,000& +12& 840
OFFXtelgt H5E POA =X E==H|
350,000& 1228 4,200
ORFE2SE)| RAE=xH| 128,700 128 1,545
ODEECCTV KA E=Hl 22,000,000 22,000
O0ls&CCTV RAIE=Hl 16,000, 000& 16,000
OxXgrsdH & =2/l 400,000& ~6CH*122 28,800
OFFA A8 HHLYNUIA ASE
200,000 »12& 2,400
OFZX g &L HMHHA KA EHI
426, 7203 x12& 5,121
203 YR =] 2,800 2,800 0
03 Al =AY R =& 2,800 2,800 0
ogs & F=xtzel 2,800,000 2,800
204 AR HH| 3,600 3,000 600
03 EZ YA 3,600 3,000 600
Ooerasl 50,0003 x6H x12& 3,600
401 Al HIZ 201 8] 59,824 189,835 A 130,011
01 A& HI 59,500 189,295 A 129,795
OSY=Z X R0t &X
30,000,000 = 1CH 30,000
OXNSEM =d CCTV &+ &X
26,500,000 = 1CH 26,500
OXNEEM =& CCTV 0l & X
3,000,000 = 1CH 3,000
03 A& =2 THHI 324 540 A216
O=Y=3X Roc=3t0er &X1 324,000 324
405 XtabFE SHI 77,099 25,000 52,099
01 XA =S FH St 77,099 25,000 52,099
OgY =Fx oaxY 7Y
28,000,000& =2CH 56,000
O=2Y =3 X ¢ PDA 2L 1,441,000& = 1CH 1,441




2A NS
=L EES EE
Sel: EYFIA HA(FNT SLHIAH) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFXHSLHAAE S2H0IHE
368,000 »46CH 16,928
OSE=FIXNCSUINA dF310 7Y
500,000& = 1CH 500
OJtalet ¢ 350, 0002 =14 350
OMdlw =g 240,000& =44 960
Ooxgeg sdeA 32¢ 230,000 »4H 920
FEX HEXH 468,129 370,410 97,719
101 @124 dl 447,102 346,532 100,570
04 D12t Z2XREES 447,102 346,532 100,570
=EXE NEHE ME2E dRSSLAA 40,197
oJdlE=a 51,7603 x2F 22U «6& +23| 27,330
o Fs=¢ 51,760& 2% »52= 5,384
o AXtRa=¥ 51,7603 «2H x 12 68 +23| 1,243
o4l EE= 260,000 x2H x63 23| 6,240
OQuUEMNMIEHZE 12 295,713
o=0 55,0403 x17H « 13«63 23] 145,967
o =4l 5,000& «17Z 13 «6F +23] 13,260
o w&Hl 2,200 «17H 13«6 »23] 5,835
o FExE 55,0403 x17H «52=F 48,656
e =] 27,5203 x 128 65 21,466
o AXtRE=¢ 55,040% x17H 6 & 23| 11,229
o4l BEEZ 220,000 & «17H x6& 23| 44,880
o II=Hl 260,000& x17H 4,420
OCCTVHER THE 111,192
o=0 51,7603 x5 22U x6H +23| 68,324
o =4l 5,000 «5H 22U «6F +23] 6,600
o wEHl 2,200 x5 H x22 U x5 H +23| 2,904
o FExE 51,7603 x5H 52 13,458
o AXtRa=g 51,7603 *5H 68 23| 3,106
o 4HEE = 280,000& x5H 128 16,800
201 et 13,587 14,638 A 1,051
01 At 2teltl 13,587 14,638 A 1,051
OFZFXANHESRH L= 260,000& x10H 2,600
Oger==&H| 54,5903 x6H x 128 3,931
O=&Hl 7,0003+6H 14U «123 7,056
202 Odl 7,440 9,240 A 1,800
01 2 odHl 3,840 3,840 0
O=& 0l 10,000 x»4H 8L x 12& 3,840
02 N 3,600 5,400 A 1,800
OBUGHI(SHFEX &=)
150,000& »2H «12& 3,600




2N nEHAHY
M FHI S2EE M
Chel: SMEXHE & HS(F=XUHE SE3H) (=& &)
i =
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
FEX 2EE N 16,867,670 14,051,503 2,816,167
Al 2,958,000
- 13,909,670
BHMFERNCSE L HE(FNE SEEAH) 672 672 0
Bh AN = X} G 672 672 0
201 2 Bt2 4| 672 672 0
01 At &t 2|l 672 672 0
OUMEXNHEI2I Z S|
7,0003 #4H x2A «12& 672
FXEE ZE(FUE SE€3AH) 16,866,998 14,050,831 2,816,167
Al 2,958,000
- 13,908,998
Green Parking AL 22,000 22,000 0
Al 11,000
- 11,000
402 QI2E X201 A 22,000 22,000 0
Al 11,000
- 11,000
02 I2H X 2AIE E (01 & THE ) 22,000 22,000 0
OGreen Parking Arg 22,000,000& 22,000
Al 11,000
- 11,000
SEFIE SAES L 22| 92,364 16,764 75,600
201 2 Bt2 4| 4,764 4,764 0
01 At 22| i 384 384 0
Ot gH| 384
0JIEE AN FYU(ENKE)
22,000% x272 «6E 264
0IJlEE AN FAU(EHEA) 60,000 *x2A 120
02 33294l 4,380 4,380 0
OSEF=XE HIIAMNER 365,000& «12& 4,380
207 AR Y| 75,600 0 75,600
01 A2 E 49| 75,600 0 75,600
OFX&E+=Z UM & FA=2HE 849
75,600,000& 75,600
A &Y Y20 12,000 12,000 0
01 Al& HI 12,000 12,000 0
O399 =& &l 12,000,000& 12,000
BMANSSFHE LAY 50,300 0 50,300
401 AlEHIL 20| 50,300 0 50,300
01 Al& Bl 50,000 0 50,000




2A NS
M FHIX 2aEE e
el FXEY ZH(EME SBEA) (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O#X BEF=XE 243 A 2,000,000& 258 50,000
03 A& =2 THHI 300 0 300
O¥X SLEF=XE Zd3A 300,000& 300
SHS 3/2-34B A 22 BIE=XE ZdAY 1,900,000 0 1,900,000
Al 950,000
- 950,000
401 Al HI K 201 I 1,900,000 0 1,900,000
Al 950,000
- 950,000
01 A& HI 1,897,000 0 1,897,000
O=SEs 362-3481 1K 4@ SEFXE =4
1,897,000, 000& 1,897,000
Al 948,500
- 948,500
03 Al 2 THHI 3,000 0 3,000
O=Ses 362-348 1K 43 SIFXE =4
3,000,000& 3,000
Al 1,500
- 1,500
e 38 93 SIAFIE 4 3,994,000 0 3,994,000
Al 1,997,000
- 1,997,000
401 AIEHI L 2 CHEI 3,994,000 0 3,994,000
Al 1,997,000
- 1,997,000
01 A& Hl 3,989,000 0 3,989,000
Ool49 48 A} BHFENE X4
3,989,000, 000& 3,989,000
Al 1,994,500
- 1,994,500
03 Al 2 THHI 5,000 0 5,000
Ooi49 4 AR BHEINE X4
5,000,000& 5,000
Al 2,500
- 2,500
ol el gl 10,808,334 12,112,067 A 1,303,733
801 Gilbl bl 10,808,334 12,112,067 A 1,303,733
01 etoildl gl 10,808,334 12,112,067 A 1,303,733
O etalgl bl 10,808,334,000& 10,808,334
HH2IZH (S H ) 727,392 412,031 315,361
AHIH(F=UE SEIA (=S SEIAH) 727,392 412,031 315,361
lHA2IH NRAMY(=XUHE SE3AH) 727,392 412,031 315,361
101 @124l 700,113 399,707 300,406
01 2= 404,600 307,511 97,089




2M nsSHF
H: HY2YIH (LS L)
el HESYH (FUHE SHINH) (=Y SE3lH) (chel:=@)
2A-F3H-H2A(3) - MY - BES Ofl & oH %‘llﬁi Hl w&z2
Os3(62 30&s) 3,822,600 x3H x12& 137,614
os=(72 3188) 3,507,900 x3H 123 126,285
OFSEeE =, 263,898,000& *1/12& x50%*23| 21,992
OAlZtel =2 (63) 10,6822 x3H «57 Al 2t 12& 21,920
OANZAE=E(72) 9,649% x3H +57 Al 2tx 12 19,800
OFH2L-INE2L (S
40,0003 x6H x12& 2,880
OFHLS-IIE2S(IIEH) 20,0002 «6H 128 1,440
OXUSHI =Y (LDSEM)  463,3003 6 *43) 11,120
OeEf3==Y  3,822,600& 4. 1%*4H«12& 7,523
O&F2ag I3 (20E0]44H)
100,000& x6H «12& 7,200
OFZ+< FIIHa2 (20 014 25 012H)
30,0003 x6H x128 2,160
OS+g2a¢ 720
0ANR2Y 67T (2FH)
20,0002 x3F x 123 720
OF U Z A 130,000 x6H 122 9,360
OHEFOHYI 263,898,000% *1/12& *60%*23] 26,390
OSItE ath|
263,898,0002 *1/12& »86%*1/30%13! 8,196
02 JIEt A 2+ 238,416 92,196 146,220
OAZtLE ADH "OH'S(EEFEI o) 206,991
o =0 1,521,2103x8F »12& 146,037
o &Y 100,000& x8H x12& 9,600
o BHZAH| 78,0003 x8H x12& 7,488
o AtHEHI = 463,300& x8H x4 3| 14,826
o HItE &Yl 150,000& 8 1,200
o4UE2E R 290,000 x8H 123 27,840
OAZtLE AJIH "OH"S(LHFITE) 31,425
o =0 2,218,4203 x1H 113 24,403
o INEE 60,000 x1H *11& 660
o BHZAH| 130,000& x 1 «11& 1,430
o ZU2RE 5,620 1H «30AI 2tx 11 1,855
o HILE &I 300,000& 1 300
o4UEEZ 252,4203 x 18 118 2,777
03 RIHAZZRE S 57,097 0 57,097
O3RHZ2XN(188) 57,097
oJdlEa 1,710,000 x2H 123 41,040
o JtE=¢ 40,0003 x2H x12& 960
o AMZ2tel==Y  7,566% x2H *15A| 2t*1.5%12& 4,086
o Mz AlH| 130,000 »2H 122 3,120
o BEFItHI 1,026,000& x2H «23| 4,104




o2 kJ
J¥ 0 o
H0 MO og

Py
S (nSdEFY)
S (=X SEA)(FAE SE3AH)

SN HH-S(BN) - MBAY - B il HlnE2
o M= & AtHI 20,0003 x2H %23 80
o AtAEHIEXZY 463,300& x2H *43| 3,707
204 AR HH| 17,679 5,355
02 252 Xl 17,679 5,355
OFFUUESR22(62) 155,000 »3H » 12 5,580
OFFXUHEZTRR(72) 140,000 »3H x 128 5,040
OAMZEERAINN "OH'S(BHFI X &)
63,0003 x8H 128 6,048
OAZIEE LD N "OH'S(EMF=R %)
91,8803 x1&H+118 1,011
307 21201 A 9,600 9,600
A=X=223 9,600 9,600
OANZSEHSIIH "Ot'S EXS
1,200,000& ~8H 9,600




